B 3l K EAA AR R R PR A AR A

OB eesEERA ioursa TR EREEER A | R 4

5L

30

Vol RA i

AT ISLUARA Y R(GE/ADE t 4 1S B FR(F2/
B ) 7 G % hopf 6 A T AR - AV/AG o B AT A RSN
R e R A 7 R AR 16 A 2 - (50%)

S ERTHARGBHEME X PEAFHRERIERS— IR

HEN— T (20%)

= ~ 4738 New & 01d Economy? #thix# Mg FE£X - B R B AL

g 7 (30%)

IS_—LM Model:

Basic Keynésian Model:

1 Y=C+I+G

C=atb(Y-T) .
I=lo-vR

G=Go

T=ToHY
Ms=Mo
Md=Lo-mR+kY

Y=C+I+G
C=a+b(Y-T)

=lo+hY 1>b, h,£>0
G=Go

T=To+tY
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L True or false: 1~8. Give your explanation shortly. Answers with no explanations
will not be scored.

1. A college football coach says that given any two linermen A and B, he always
prefers the one who is bigger and faster. Therefore, his preference refation is
transitive and complete. (5%)

2. Consider a quantity tax and an income tax, both of which raise the same revenue.
The consumer will be worse off under the income-tax. (5%)

3. An auction-of a Monet’s painting to collectors is a private auction. (5%)

4. If the law of diminishing marginal product did not hold, the world’s food supply
could be grown in a flowerpot. (5%)

5. A person is offered a choice between a gamble that pays-$1000 with a probability
of 25% and $100 with a probability of 75%, or a payment of 320, 1f the person is
risk-averse, he will take the paytnent. (5%) ' '

6. Disneyland offers a discount on admissions to the residents of Southern California. .
This is a third-degree price discrimination. It also implies that the Disneyland
administrators believe that residents of Southern California have less elastic
demands than other visitors to their park. (5%)

7. Even if your opponent is not playing her Nash equilibrium strategy, I suggest that
you should stick to-your Nash-equilibrium strategy, since it maximizes your payoff
by definition. (5%)

8. Suppose that 16 people live on a street and that each of them is willing to pay $3
for each extra streetlight, regardless of the number of streetlights provided, 1If the
cost of-providing x streetlights is given by c(x*), then the Pareto efficient number of
streetlights to provide is 4. (5%)

11 Answer all questions,

9."Write down the Slutsky equation. (5%)

10. Let w and y be factor prices and output respectively. Prove that the cost
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function possesses the property of homogeneous of degree 1 in factor prices, i.e.
o(tw,y) =t c{w,y) for 1 >0? (5%)

t1. Prove that if Prodl.wt'ion function is CRTS (cdnstant, returns to scales), then the
cost function may be written as c(w, v} =y c(w,1). (5%)

12. Ifthe risk-free rate of refurn is 6%, and if a risky asset is available with a return
of 9% and a standard deviation of 3%, what is the maximum rate of return you can
achieve if you are willing to accept a standard deviation of 2%? What percentage
of your wealth would have to be invested in the risky asset? (10%)

13. A werkér can produce X units of output at a cost of ¢(x) =x72. He can achieve -
a utility level of w =0 working elsewhere. (a) what is the optimal wage-labor
incentive scheme s(x) for this worker? (b) what would the worker be willing to
pay to rent the production technology?  (c) how would your answer to question (b)
change if the worker’s alternative employment gave him # =17 (15%)

14. Ina 10-person community, an issue is proposed. It regards the public provision
of a private good x out of a téx falling on the entire population. (a) if these people
have equal incomes, and the community adopts majprity rule, what properties are
most likely to appear for an issue like above which gets passed? (bjwhat is the
implications of your answer on distribution? (c) if there are 5 equally rich and 5
equally poor people among the 10 persons, and if each person is required to
consume a same amount of x since it is publicly supplied and is financed out of
proportional income tax, then what would be the implications on allocative
efficiency and redistribution? (20%)
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(—)Let (X,Y) be a discrete bivariate random vector with range
S={, G2, @3 @D, 2,2) 23, G, (3,2), (3.N}and

density function f(x,))=cxy, (x,y)eS.
(a) What is ¢ 7
(b)Find P(X+Y$4) .

{20 Lét (X, ¥) have the joint density function f(x;y) =3(x* +y*)r2,

0<x<l, 0<y<l Find the mérginal density function of X and the

conditional density function bf YegivenX.-
( = )letxand ¥ be independent, with f(x)=e”, x>0, and
f,0)=¢”,y>0. Let U=(X+Y)", ¥=X. Find the joint

density function of U and V.

([).Let X,ys X, beindependent, n>2, and X, ~ N(u,0”), where u
and o’are the unknown parameter. Find the maximum likelihood

estimator for x and o’.

(). Let X =(X,,X,,X;)" have a trivariate normal distribution with
means 6, 4, and 2 and variances 16, 25, and 64, and with

cov(X,, X,) =6 and cov(X,X;)=cov(X,,X;)=0. Let
Y, =2X,+3X,+X;+2 and ¥, =4X, + X, +2. What is the joint

density function of Y, and 1,.
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